m A square number and a prime number have a total of 22

What are the two numbers?

9 - K = 22
& 1 mark
square prime
number number
i + z 1
ot 18
g =+ 13
b+ 6

m Dev thinks of a whole number.

He multiplies it by 4

He rounds his answer to the nearest 10
The result is 50

Wirite all the possible numbers that Dev could have started with.
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m Write the missing number to make this division correct.

15,000 + 200 = 75
1 mark
legek 7 w28 = 3
100 75 = Is@o<
m Write the two missing digits to make this long multiplication correct.
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a Write the missing number to make this calculation correct.

754 x8)+ 754 x(3)= 754 x |

1 mark
m Here are five digit cards.
Lﬂ &ﬂ 3j[4 :
Use two cards to make a fraction equivalent to 25%
)
L_J 1 mark

Use two cards to make a fraction equivalent to 0.4
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Write the missing square number to make this addition correct.

88+ _> °-713
¢l

At the start of April, a shop had 15,000 games.
The shop sold:
e 7,918 games in April

e 4,624 games in May.

How many games did the shop have left at the end of May?
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o Write the next two numbers in this sequence.

1,780 1,880 1,980

o Circle the two decimals that round to the same whole number.

132 147 (159 @183 176
15 b (6
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n Chen has these digit cards.

She uses three of the cards to make a three-digit number.
Each card can be used only once.

Chen puts the 4 in the tens place.

Write the lowest three-digit number that Chen could make.

1 mark

e Tick the number eighty thousand, three hundred and six.

Tick one.

8,306

80,036

80,306

800,306

80,300,006 1 mark
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o Complete this table with the missing numbers.

One row has been done for you.

Number 1,000 more
3,500 4,500
85
9,099
15,250

IO

2 marks
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a Chen uses these digit cards.

She makes a 2-digit number and a 1-digit number.
She multiplies them together.

Her answer is a multiple of 10

What could Chen’s multiplication be?

1 mark
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Write three factors of 30 that are not factors of 15

x Y7

7 /1)’5”
2{ g
s 6

Here is the morning timetable for Chen’s class this week.

Time Mon Tue Wed Thu Fri
9:00am-10:30am | Maths | English | Maths | English Maths
10:30am-11:00am| Break Break Break Break Break
11:00am-12:00pm| English | Maths | Science | Maths | English
What is the total number of hours for English on this timetable?
hours
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Jack says,

I multiplied a
whole number by 3
My answer was 32

Explain why Jack is not correct.

Tl = od BSXEHE B3

50 370 is neh max mulbpl b 3

1 mark
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@ 24 white 12 red

balloons balloons

/| K /

S
24 12
i 8

Adam buys 6 bags of white balloons.

Chen buys 3 bags of red balloons.

Adam says,

‘I have four times as many balloons as Chen.’

Explain why Adam is correct.
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